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Λύση 

Αν η ευθεία y=λx+β είναι ασύμπτωτη της Cf στο +, τότε θα ισχύει:  

 
x
lim f(x) λx =β


  

Θέτουμε g(x)=f(x) λx . Έχουμε: 

 
x
lim g(x)=β


 και f(x)=g(x)+λx . 

     
x x
lim f(x+α) f(x α) = lim g(x+α)+λ(x+α) g(x α)+λ(x-α)
 

      

                                               =  lim g(x+α) g(x α)+2αλ)


 
x

, (1) 

Επειδή 
x
lim g(x)=β


 θα έχουμε: 

 
u=x+α

x u
lim g(x+α) = lim g(u)=β
 

 και   

 
u=x α

x u
lim g(x α) = lim g(u)=β



 
 . 

Άρα, λόγω της (1), συμπεραίνουμε ότι: 

 
x
lim f(x+α) f(x α)


  =2αλ. 


